Easy Division Word Problems

Answer:
There are 3 students in the class and 27
apples. If the apples are divided equally
among the students, how many does each
student get?

Answer:

Stephen is inviting 3 friends to a party.
He has 6 cookies. How many cookies will
each friend get?

Answer:
There are 5 students in the class and 10
oranges. If the oranges are divided
equally among the students, how many does
each student get?

Answer:

Judy has 20 pencils stored in boxes. If

the are 5 boxes, how many pencils must go
in each box?

Answer:

Carolyn is inviting 8 friends (o a party.
She has 24 cookies. How many cookies will
each friend get?
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